Bid Proof

Bid Number: 10009513-11-Z

Bid Title: Pest Control Services for the Developed Regional Parks Department

>>>	AGRICULTURAL PEST CONTROL Vendor ID: AGP 01488071				Days ARO: Opt To Renew Pct. (%):	N/A N/A		Disc Terms - Days:	30 0.00	Addendum: Tax Rate Pct (%):	NN/NA 0
Section	1										
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product No	ımber	Quantity	Unit Price	Extension	Tax	Final
1	Twice Monthly Service De Anza Park 2800 Mission Bay Drive San Diego, CA 92109, price per visit.						24 EA	\$39.00	\$936.00	\$0.00	\$936.00
2	Twice Monthly Service Playa Pacifica Park East Mission Bay Drive San Diego, CA 92109, price per visit.						24 EA	\$39.00	\$936.00	\$0.00	\$936.00
3	Twice Monthly Service Crown Point Shores Corona Orienta Road San Diego, CA 92109, price per visit.						24 EA	\$39.00	\$936.00	\$0.00	\$936.00
4	Twice Monthly Service Cal Trans Strip Area East of Mission Bay Drive from North De Anza to South San Diego, CA 92109, price per visit.						24 EA	\$39.00	\$936.00	\$0.00	\$936.00
5	Twice Monthly Service Riviera Shores Area between sidewalk and beach on Riviera Drive San Diego, CA 92109, price per visit.						24 EA	\$39.00	\$936.00	\$0.00	\$936.00
6	Twice Monthly Service South Shores 404 Sea World Drive San Diego, CA 92109, price per visit.						24 EA	\$39.00	\$936.00	\$0.00	\$936.00
							Sect	ion 1 Subtotals:	\$5,616.00	\$0.00	\$5,616.00

	AGRICULTURAL PEST CONTROL Vendor ID: AGP 01488071				Days ARO: N/A Opt To Renew Pct. (%): N/A		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: Tax Rate Pct (%):	NN/NA 0
Section 2	2									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Provide service to other sites within Mission Bay park on an as needed basis, price per visit.					60 EA	\$39.00	\$2,340.00	\$0.00	\$2,340.0
						Sect	ion 2 Subtotals:	\$2,340.00	\$0.00	\$2,340.0
Section 3	3									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Hourly rate for call-out service(s) bees excluding materials. Response(s) to Other Requirements ► Minimum Hours: 1					25 HR	\$85.00	\$2,125.00	\$0.00	\$2,125.0
						Sect	ion 3 Subtotals:	\$2,125.00	\$0.00	\$2,125.0
					Subtotals for AG	RICULTURAL PI	EST CONTROL:	\$10,081.00	\$0.00	\$10,081.0
								Miscellaneou	us Charges:	\$0.0
									Freight:	\$0.0
							Extraordin	ary Labor - 0 hours @	\$0.00/hour:	\$0.0
						Gran	nd Total for AGR	ICULTURAL PEST C	ONTROL:	\$10,081.00
							F	inal Price (w/ Di	scount):	\$10,081.00
>>> A	ANTIMITE				Days ARO: N/A		Disc Terms - Days:	30	Addendum:	N/ATT
,	Vendor ID: TEMP-ANTIMIT				Opt To Renew Pct. (%): N/A		Disc Pct. (%):	3.00	Tax Rate Pct (%):	0
Section	1									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Twice Monthly Service De Anza Park 2800 Mission Bay Drive San Diego, CA 92109, price per visit.					24 EA	\$80.00	\$1,920.00	\$0.00	\$1,920.0

>>>	ANTIMITE				Days ARO: N/A		Disc Terms - Days:		Addendum:	N/ATT
,	Vendor ID: TEMP-ANTIMIT				Opt To Renew Pct. (%): N/A		Disc Pct. (%):	3.00	Tax Rate Pct (%):	0
Section	1									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
2	Twice Monthly Service Playa Pacifica Park East Mission Bay Drive San Diego, CA 92109, price per visit.					24 EA	\$80.00	\$1,920.00	\$0.00	\$1,920.00
3	Twice Monthly Service Crown Point Shores Corona Orienta Road San Diego, CA 92109, price per visit.					24 EA	\$80.00	\$1,920.00	\$0.00	\$1,920.00
4	Twice Monthly Service Cal Trans Strip Area East of Mission Bay Drive from North De Anza to South San Diego, CA 92109, price per visit.					24 EA	\$75.00	\$1,800.00	\$0.00	\$1,800.00
5	Twice Monthly Service Riviera Shores Area between sidewalk and beach on Riviera Drive San Diego, CA 92109, price per visit.					24 EA	\$75.00	\$1,800.00	\$0.00	\$1,800.00
6	Twice Monthly Service South Shores 404 Sea World Drive San Diego, CA 92109, price per visit.					24 EA	\$80.00	\$1,920.00	\$0.00	\$1,920.00
						Sect	ion 1 Subtotals:	\$11,280.00	\$0.00	\$11,280.00
Section	2									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Provide service to other sites within Mission Bay park on an as needed basis, price per visit.					60 EA	\$90.00	\$5,400.00	\$0.00	\$5,400.00
						Sect	ion 2 Subtotals:	\$5,400.00	\$0.00	\$5,400.0
Section :	3									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Hourly rate for call-out service(s) bees excluding materials. Response(s) to Other Requirements ► Minimum Hours: 1					25 HR	\$75.00	\$1,875.00	\$0.00	\$1,875.00

 ▶▶▶
 ANTIMITE
 Days ARO:
 N/A
 Disc Terms - Days:
 30
 Addendum:
 N/ATT

 Vendor ID:
 TEMP-ANTIMIT
 Opt To Renew Pct. (%):
 N/A
 Disc Pct. (%):
 3.00
 Tax Rate Pct (%):
 0

Section 3

Section 3 Subtotals: \$1,875.00 \$0.00 \$1,875.00

Subtotals for ANTIMITE: \$18,555.00 \$0.00 \$18,555.00

Miscellaneous Charges: \$0.00

Freight: \$0.00

Extraordinary Labor - 0 hours @ \$0.00/hour: \$0.00

Grand Total for ANTIMITE: \$18,555.00

Final Price (w/ Discount): \$17,998.35

CARTWRIGHT TERMITE & PEST CONTROL

Days ARO: N/A

Disc Terms - Days: 21

Addendum: N/ATT

Vendor ID: CAT 02216943

Opt To Renew Pct. (%): N/A

Disc Pct. (%): 15.00

Tax Rate Pct (%): 0

	Vendor ID: CA1 02210943			O	ot To Renew Pct. (%): IN/A		Disc Pct. (%):	15.00	Tax Rate Pct (%): U	
Section	1									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Twice Monthly Service De Anza Park 2800 Mission Bay Drive San Diego, CA 92109, price per visit.					24 EA	\$36.80	\$883.20	\$0.00	\$883.20
2	Twice Monthly Service Playa Pacifica Park East Mission Bay Drive San Diego, CA 92109, price per visit.					24 EA	\$30.00	\$720.00	\$0.00	\$720.00
3	Twice Monthly Service Crown Point Shores Corona Orienta Road San Diego, CA 92109, price per visit.					24 EA	\$36.80	\$883.20	\$0.00	\$883.20
4	Twice Monthly Service Cal Trans Strip Area East of Mission Bay Drive from North De Anza to South San Diego, CA 92109, price per visit.					24 EA	\$30.00	\$720.00	\$0.00	\$720.00

>>>	CARTWRIGHT TERMITE & PEST CONTROL				Days ARO: N/A		Disc Terms - Days		Addendum:	N/ATT
	Vendor ID: CAT 02216943				Opt To Renew Pct. (%): N/A	A	Disc Pct. (%):	15.00	Tax Rate Pct (%):	0
Section	1									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
5	Twice Monthly Service Riviera Shores Area between sidewalk and beach on Riviera Drive San Diego, CA 92109, price per visit.					24 EA	\$21.60	\$518.40	\$0.00	\$518.40
6	Twice Monthly Service South Shores 404 Sea World Drive San Diego, CA 92109, price per visit.					24 EA	\$21.60	\$518.40	\$0.00	\$518.40
						Sec	tion 1 Subtotals:	\$4,243.20	\$0.00	\$4,243.20
Section	2									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Provide service to other sites within Mission Bay park on an as needed basis, price per visit.					60 EA	\$16.50	\$990.00	\$0.00	\$990.00
						Sec	ion 2 Subtotals:	\$990.00	\$0.00	\$990.00
Section	3									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Hourly rate for call-out service(s) bees excluding materials.					25 HR	\$50.00	\$1,250.00	\$0.00	\$1,250.00
	Response(s) to Other Requirements ▶ Minimum Hours: 2									
						Sec	tion 3 Subtotals:	\$1,250.00	\$0.00	\$1,250.00

▶▶▶ CARTWRIGHT TERMITE & PEST CONTROL

Days ARO:

N/A

Disc Terms - Days: 21

Addendum:

N/ATT

Vendor ID: CAT 02216943

Opt To Renew Pct. (%): N/A

Disc Pct. (%):

15.00

Tax Rate Pct (%): 0

Subtotals for CARTWRIGHT TERMITE & PEST CONTROL:

\$6,483.20

\$0.00 \$6,483.20

Miscellaneous Charges:

Freight: \$0.00

Extraordinary Labor - 0 hours @ \$0.00/hour:

\$0.00

\$0.00

Grand Total for CARTWRIGHT TERMITE & PEST CONTROL: \$6,483.20

Final Price (w/ Discount): \$5,510.72

► EPIC PEST CONTROL

Days ARO:

N/A

Disc Terms - Days: 20

Addendum: N/ATT

					- w	2.00 .0 24,0			
V	rendor ID: TEMP-EPIC PE				Opt To Renew Pct. (%): N/A	Disc Pct. (%):	10.00	Tax Rate Pct (%): 0	
Section 1	l								
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number Quantity	Unit Price	Extension	Tax	Final
1	Twice Monthly Service De Anza Park 2800 Mission Bay Drive San Diego, CA 92109, price per visit.				24 EA	\$30.00	\$720.00	\$0.00	\$720.00
2	Twice Monthly Service Playa Pacifica Park East Mission Bay Drive San Diego, CA 92109, price per visit.				24 EA	\$30.00	\$720.00	\$0.00	\$720.00
3	Twice Monthly Service Crown Point Shores Corona Orienta Road San Diego, CA 92109, price per visit.				24 EA	\$30.00	\$720.00	\$0.00	\$720.00
4	Twice Monthly Service Cal Trans Strip Area East of Mission Bay Drive from North De Anza to South San Diego, CA 92109, price per visit.				24 EA	\$30.00	\$720.00	\$0.00	\$720.00
5	Twice Monthly Service Riviera Shores Area between sidewalk and beach on Riviera Drive San Diego, CA 92109, price per visit.				24 EA	\$22.75	\$546.00	\$0.00	\$546.00

EPIC PEST CONTROL				Davs ARO: N/A		Disc Terms - Davs:	20	Addendum:	N/ATT
Vendor ID: TEMP-EPIC PE				•		Disc Pct. (%):	10.00		
1									
Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
Twice Monthly Service South Shores 404 Sea World Drive San Diego, CA 92109, price per visit.					24 EA	\$22.75	\$546.00	\$0.00	\$546.00
					Secti	on 1 Subtotals:	\$3,972.00	\$0.00	\$3,972.00
2									
Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
Provide service to other sites within Mission Bay park on an as needed basis, price per visit.					60 EA	\$30.00	\$1,800.00	\$0.00	\$1,800.00
					Secti	on 2 Subtotals:	\$1,800.00	\$0.00	\$1,800.00
3									
Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
Hourly rate for call-out service(s) bees excluding materials.					25 HR	\$195.00	\$4,875.00	\$0.00	\$4,875.00
Response(s) to Other Requirements ► Minimum Hours: 1									
					Secti	on 3 Subtotals:	\$4,875.00	\$0.00	\$4,875.00
				5	Subtotals for EPIC PE	ST CONTROL:	\$10,647.00	\$0.00	\$10,647.00
							Miscellaneou	s Charges:	\$0.00
								Freight:	\$0.00
						Extroordin	omilahar Ohaura @ 6	20.00/	\$0.00
	Item Description Twice Monthly Service South Shores 404 Sea World Drive San Diego, CA 92109, price per visit. Item Description Provide service to other sites within Mission Bay park on an as needed basis, price per visit. Item Description Hourly rate for call-out service(s) bees excluding materials. Response(s) to Other Requirements	Item Description Stock Number Twice Monthly Service South Shores 404 Sea World Drive San Diego, CA 92109, price per visit. Item Description Stock Number Provide service to other sites within Mission Bay park on an as needed basis, price per visit. 3 Item Description Stock Number Hourly rate for call-out service(s) bees excluding materials. Response(s) to Other Requirements	Item Description Stock Number NB NR Twice Monthly Service South Shores 404 Sea World Drive San Diego, CA 92109, price per visit. Item Description Stock Number NB NR Provide service to other sites within Mission Bay park on an as needed basis, price per visit. Item Description Stock Number NB NR Hourly rate for call-out service(s) bees excluding materials. Response(s) to Other Requirements	Item Description Stock Number NB NR Manufacturer Twice Monthly Service South Shores 404 Sea World Drive San Diego, CA 92109, price per visit. Item Description Stock Number NB NR Manufacturer Provide service to other sites within Mission Bay park on an as needed basis, price per visit.	Vendor ID: TEMP-EPIC PE Opt To Renew Pct. (%): N/A I Item Description Stock Number NB NR Manufacturer Product Number Stock Number NB NR Manufacturer Product Number Provide San Diego, CA 92109, price per visit. Stock Number NB NR Manufacturer Product Number Provide service to other sites within Mission Bay park on an as needed basis, price per visit. 3 Item Description Stock Number NB NR Manufacturer Product Number Hourly rate for call-out service(s) bees excluding materials. Response(s) to Other Requirements Minimum Hours: 1	Vendor ID: TEMP-EPIC PE Tem Description Stock Number NB NR Manufacturer Product Number Quantity	Vendor ID: TEMP-EPIC PE Temposcription Stock Number NB NR Manufacturer NB MR Manufacturer Product Number Quantity Unit Price Section 1 Subtotals: Section 2 Subtotals; Temposcription Stock Number Stock Number NB NR Manufacturer Product Number Quantity Unit Price Section 1 Subtotals: Section 2 Subtotals: Section 3 Subtotals:	Vendor ID: TEMP-EPIC PE Opt To Renew Pct. (%): N/A Disc Pct. (%): 10.00 Item Description Stock Number NB NR Manufacturer Product Number Quantity Unit Price Extension Socition 1 Subtotals: \$3,972.00 2 Item Description Provide service to other sites within Mission Bay park on an as needed basis, price per visit. Section 2 Subtotals: \$1,800.00 3 Item Description Stock Number NB NR Manufacturer Product Number Quantity Unit Price Extension Section 2 Subtotals: \$1,800.00 1 Section 2 Subtotals: \$1,800.00 Stock Number NB NR Manufacturer Product Number Quantity Unit Price Extension Section 2 Subtotals: \$1,800.00 Section 2 Subtotals: \$1,800.00 Section 3 Subtotals: \$1,800.00 Miscellaneous Miscellaneou	TEMP-EPIC PE Stock Number NB NR Manufacturer Product Number Quantity Unit Price Extension Tax Rate Pet (%) Tax Rate Pet (%)

Grand Total for EPIC PEST CONTROL:

Final Price (w/ Discount):

\$10,647.00

\$9,582.30

HOMETEAM PEST DEFENSE, INC N/A Disc Terms - Days: 30 NN/NA Days ARO: Addendum: SUP 02709921 Opt To Renew Pct. (%): N/A 0.00 Tax Rate Pct (%): 0 Vendor ID: Disc Pct. (%): Section 1 **Unit Price** Tax Final Item No. Item Description Stock Number NB NR Manufacturer **Product Number** Quantity Extension Twice Monthly Service 24 EA \$56.00 \$0.00 \$1,344.00 \$1,344.00 De Anza Park 2800 Mission Bay Drive San Diego, CA 92109, price per visit. 2 Twice Monthly Service 24 EA \$56.00 \$0.00 \$1.344.00 \$1.344.00 Playa Pacifica Park East Mission Bay Drive San Diego, CA 92109, price per visit. Twice Monthly Service 24 EA \$56.00 \$1,344.00 \$0.00 \$1,344.00 Crown Point Shores Corona Orienta Road San Diego, CA 92109, price per visit. Twice Monthly Service 24 EA \$56.00 \$0.00 \$1,344.00 \$1,344.00 Cal Trans Strip Area East of Mission Bay Drive from North De Anza to South San Diego, CA 92109, price per visit. 5 Twice Monthly Service 24 EA \$56.00 \$1,344.00 \$0.00 \$1,344.00 Riviera Shores Area between sidewalk and beach on Riviera Drive San Diego, CA 92109, price per visit. 24 EA \$56.00 Twice Monthly Service \$1,344.00 \$0.00 \$1,344.00 South Shores 404 Sea World Drive San Diego, CA 92109, price per visit. Section 1 Subtotals: \$8,064.00 \$0.00 \$8,064.00 Section 2 Item No. **Item Description** Stock Number NB NR Manufacturer **Product Number** Quantity **Unit Price** Extension Tax Final Provide service to other sites within Mission Bay park on an as 60 EA \$65.00 \$3,900.00 \$0.00 \$3.900.00 needed basis, price per visit. Section 2 Subtotals: \$3,900.00 \$0.00 \$3,900.00

HOMETEAM PEST DEFENSE, INC N/A Disc Terms - Days: 30 NN/NA Days ARO: Addendum: 0.00 SUP 02709921 Opt To Renew Pct. (%): N/ATax Rate Pct (%): 0 Vendor ID: Disc Pct. (%): **Section 3** Item No. Item Description Stock Number NB NR Manufacturer **Product Number** Quantity **Unit Price** Extension Tax Final Hourly rate for call-out service(s) bees excluding materials. 25 HR \$75.00 \$1,875.00 \$0.00 \$1,875.00 Response(s) to Other Requirements ▶ Minimum Hours: 1 \$1,875.00 \$1,875.00 Section 3 Subtotals: \$0.00 **Subtotals for HOMETEAM PEST DEFENSE, INC:** \$13,839.00 \$0.00 \$13,839.00 Miscellaneous Charges: \$0.00 Freight: \$0.00 Extraordinary Labor - 0 hours @ \$0.00/hour: \$0.00 \$13,839.00 **Grand Total for HOMETEAM PEST DEFENSE, INC:** Final Price (w/ Discount): \$13,839.00 KNOTT'S PEST CONTROL INC N/ATT N/A Days ARO: Disc Terms - Days: 30 Addendum:

	MIOTI STEST CONTROLLING				Days ARO: IN/A		Disc Terms - Days:	30	Addendum:	N/AII
	Vendor ID: KPC 01516301				Opt To Renew Pct. (%): N/A		Disc Pct. (%):	0.00	Tax Rate Pct (%):	0
Section	1									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Twice Monthly Service De Anza Park 2800 Mission Bay Drive San Diego, CA 92109, price per visit.					24 EA	\$350.00	\$8,400.00	\$0.00	\$8,400.00
2	Twice Monthly Service Playa Pacifica Park East Mission Bay Drive San Diego, CA 92109, price per visit.					24 EA	\$300.00	\$7,200.00	\$0.00	\$7,200.00
3	Twice Monthly Service Crown Point Shores Corona Orienta Road San Diego, CA 92109, price per visit.					24 EA	\$325.00	\$7,800.00	\$0.00	\$7,800.00

>>>	KNOTT'S PEST CONTROL INC				Days ARO:	N/A		Disc Terms - Days		Addendum:	N/ATT
	Vendor ID: KPC 01516301				Opt To Renew Pct. (%):	N/A		Disc Pct. (%):	0.00	Tax Rate Pct (%):	0
Section	on 1										
Item No	o. Item Description	Stock Number	NB NR	Manufacturer	Product Nu	mber	Quantity	Unit Price	Extension	Tax	Final
4	Twice Monthly Service Cal Trans Strip Area East of Mission Bay Drive from North De Anza to South San Diego, CA 92109, price per visit.						24 EA	\$175.00	\$4,200.00	\$0.00	\$4,200.00
5	Twice Monthly Service Riviera Shores Area between sidewalk and beach on Riviera Drive San Diego, CA 92109, price per visit.						24 EA	\$125.00	\$3,000.00	\$0.00	\$3,000.00
6	Twice Monthly Service South Shores 404 Sea World Drive San Diego, CA 92109, price per visit.						24 EA	\$325.00	\$7,800.00	\$0.00	\$7,800.00
							Sect	ion 1 Subtotals:	\$38,400.00	\$0.00	\$38,400.00
Section	on 2										
Item No	o. Item Description	Stock Number	NB NR	Manufacturer	Product Nu	mber	Quantity	Unit Price	Extension	Tax	Final
1	Provide service to other sites within Mission Bay park on an as needed basis, price per visit.						60 EA	\$95.00	\$5,700.00	\$0.00	\$5,700.00
							Sect	ion 2 Subtotals:	\$5,700.00	\$0.00	\$5,700.00
Section	on 3										
Item No	o. Item Description	Stock Number	NB NR	Manufacturer	Product Nu	mber	Quantity	Unit Price	Extension	Tax	Final
1	Hourly rate for call-out service(s) bees excluding materials. Response(s) to Other Requirements ► Minimum Hours: 1						25 HR	\$150.00	\$3,750.00	\$0.00	\$3,750.00
							Sect	ion 3 Subtotals:	\$3,750.00	\$0.00	\$3,750.00

KNOTT'S PEST CONTROL INC

Days ARO:

N/A

Disc Terms - Days: 30

Addendum:

N/ATT

Vendor ID:

KPC 01516301

Opt To Renew Pct. (%): N/A

Disc Pct. (%):

0.00

Tax Rate Pct (%): 0

\$0.00

Subtotals for KNOTT'S PEST CONTROL INC:

\$47,850.00

\$0.00

Miscellaneous Charges:

Freight: \$0.00

Extraordinary Labor - 0 hours @ \$0.00/hour:

\$0.00

\$47,850.00

Grand Total for KNOTT'S PEST CONTROL INC:

\$47,850.00

Final Price (w/ Discount): \$47,850.00

PAN AMERICAN PEST CONTROL COMP

Days ARO:

N/A

Disc Terms - Days: 30

N/ATT Addendum:

	Vendor ID: TEMP-PAN AME				Opt To Renew Pct. (%): N/A		Disc Pct. (%):	0.00	Tax Rate Pct (%): 0	
Section	1									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Twice Monthly Service De Anza Park 2800 Mission Bay Drive San Diego, CA 92109, price per visit.					24 EA	\$339.00	\$8,136.00	\$0.00	\$8,136.00
2	Twice Monthly Service Playa Pacifica Park East Mission Bay Drive San Diego, CA 92109, price per visit.					24 EA	\$298.00	\$7,152.00	\$0.00	\$7,152.00
3	Twice Monthly Service Crown Point Shores Corona Orienta Road San Diego, CA 92109, price per visit.					24 EA	\$334.00	\$8,016.00	\$0.00	\$8,016.00
4	Twice Monthly Service Cal Trans Strip Area East of Mission Bay Drive from North De Anza to South San Diego, CA 92109, price per visit.					24 EA	\$143.00	\$3,432.00	\$0.00	\$3,432.00
5	Twice Monthly Service Riviera Shores Area between sidewalk and beach on Riviera Drive San Diego, CA 92109, price per visit.					24 EA	\$84.00	\$2,016.00	\$0.00	\$2,016.00

>>>	PAN AMERICAN PEST CONTROL COMP Vendor ID: TEMP-PAN AME				Days ARO: N/A Opt To Renew Pct. (%): N/A		Disc Terms - Days:	30 0.00	Addendum: Tax Rate Pct (%):	N/ATT 0
Section	11									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
6	Twice Monthly Service South Shores 404 Sea World Drive San Diego, CA 92109, price per visit.					24 EA	\$326.00	\$7,824.00	\$0.00	\$7,824.00
						Sect	ion 1 Subtotals:	\$36,576.00	\$0.00	\$36,576.00
Section	12									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Provide service to other sites within Mission Bay park on an as needed basis, price per visit.					60 EA	\$76.00	\$4,560.00	\$0.00	\$4,560.00
						Sect	ion 2 Subtotals:	\$4,560.00	\$0.00	\$4,560.00
Section	13									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
1	Hourly rate for call-out service(s) bees excluding materials.					25 HR	\$76.00	\$1,900.00	\$0.00	\$1,900.00
	Response(s) to Other Requirements ▶ Minimum Hours: NN									
						Sect	ion 3 Subtotals:	\$1,900.00	\$0.00	\$1,900.00
					Subtotals for PAN AME	ERICAN PEST CO	NTROL COMP:	\$43,036.00	\$0.00	\$43,036.00
								Miscellaneou	is Charges:	\$0.00
									Freight:	\$0.00
							Extraordin	ary Labor - 0 hours @ \$	\$0.00/hour:	\$0.00
						Grand Tota	I for PAN AMER	ICAN PEST CONTRO	DL COMP:	\$43,036.00

\$43,036.00

Final Price (w/ Discount):

>>>	PESTMASTER SERVICES				Days ARO:	N/A		Disc Terms - Days		Addendum:	N/ATT
	Vendor ID: TEMP-PESTMAS				Opt To Renew Pct.	(%): N/A		Disc Pct. (%):	0.00	Tax Rate Pct (%):	0
Section	1										
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Produ	t Number	Quantity	Unit Price	Extension	Tax	Final
1	Twice Monthly Service De Anza Park 2800 Mission Bay Drive San Diego, CA 92109, price per visit.						24 EA	\$66.00	\$1,584.00	\$0.00	\$1,584.00
2	Twice Monthly Service Playa Pacifica Park East Mission Bay Drive San Diego, CA 92109, price per visit.						24 EA	\$57.50	\$1,380.00	\$0.00	\$1,380.00
3	Twice Monthly Service Crown Point Shores Corona Orienta Road San Diego, CA 92109, price per visit.						24 EA	\$66.00	\$1,584.00	\$0.00	\$1,584.00
4	Twice Monthly Service Cal Trans Strip Area East of Mission Bay Drive from North De Anza to South San Diego, CA 92109, price per visit.						24 EA	\$57.50	\$1,380.00	\$0.00	\$1,380.00
5	Twice Monthly Service Riviera Shores Area between sidewalk and beach on Riviera Drive San Diego, CA 92109, price per visit.						24 EA	\$47.00	\$1,128.00	\$0.00	\$1,128.00
6	Twice Monthly Service South Shores 404 Sea World Drive San Diego, CA 92109, price per visit.						24 EA	\$47.00	\$1,128.00	\$0.00	\$1,128.00
							Sect	tion 1 Subtotals:	\$8,184.00	\$0.00	\$8,184.00
Section	2										
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Produ	t Number	Quantity	Unit Price	Extension	Tax	Final
1	Provide service to other sites within Mission Bay park on an as needed basis, price per visit.						60 EA	\$32.00	\$1,920.00	\$0.00	\$1,920.00
-							Sect	tion 2 Subtotals:	\$1,920.00	\$0.00	\$1,920.00

	PESTMASTER SERVICES Vendor ID: TEMP-PESTMAS				Days ARO: Opt To Renew Pct.	N/A %): N/A		Disc Terms - Days:	30 0.00	Addendum: Tax Rate Pct (%):	N/ATT 0
Section 3											
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Produc	t Number	Quantity	Unit Price	Extension	Tax	Final
1	Hourly rate for call-out service(s) bees excluding materials.						25 HR	\$149.00	\$3,725.00	\$0.00	\$3,725.00
	Response(s) to Other Requirements										
	▶ Minimum Hours: 1										
							Sect	tion 3 Subtotals:	\$3,725.00	\$0.00	\$3,725.00

Subtotals for PESTMASTER SERVICES: \$13,829.00 \$0.00 \$13,829.00

Miscellaneous Charges: \$0.00

Freight: \$0.00

Extraordinary Labor - 0 hours @ \$0.00/hour: \$0.00

Grand Total for PESTMASTER SERVICES: \$13,829.00

Final Price (w/ Discount): \$13,829.00